Algebra I
8-4
Slope/Intercept Form
of a Line
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Find the slope and the y-intercept of each line.(pg 368) Graph each of the following lines.
-1
) y=2x+1 First, check to make I7) y="7x+4
m= 2 sure y is on a side - _4
b= 5 (o l) by itself. m=Tz
b=4 (2.9)
7) y=8-2x
Mm=-2
b: %, (0,95
9) y=l

Graph each of the following lines.

19) x+y=8

First, we need to get

v on a side by itself.

Graph each of the following lines.

25) 3x-5y=10

First, we need to get

y on a side by itself.




P4 348
2-2Feven

8 <3FAFL\ S
S+N+h3 Gd_#lhl




